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1 100kN/mM##BZ % -l -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = ~-|3mZi#BZ % = o - - -
TS 1.00] 000 ~ 457 67.08] #hbList 000 ~ 457| 1.72 7.55 Zh s 1.00] 500 ~ 6.96 67.08] #hbist | 500 ~ 6.96] 1.72 755
9 100kN/mM#%#BZ % -l -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = ~-|3mZi#BZ % = o - - -
ZThLS 1.00/ 000 ~ 6.33 94.21| #hbist 000 ~ 6.33] 1.76 7.74 Zhus 1.00] 500 ~ 11.60 9421 #hbist | 500 ~ 11.60] 1.76 7.74
3 100kN/mM##8Z % -l -~ = -|3mEB2Z| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZhLS 1.00/ 000 ~ 6.33 94.21| #hbist 000 ~ 6.33] 217 9.54 Zhus 1.00] 500 ~ 11.60 9421 #hbist | 500 ~ 1160 217 9.54
4 100kN/mM#%# 8% % -l -~ = -|3mEB2Z| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
ZThLS 1.00] 000 ~ 352 52.06] #hbList 000 ~ 352| 1.94 8.52 Zhus 1.00] 500 ~ 5.10 5206 #hbiist | 500 ~ 5.10] 1.94 8.52
5 100kN/mM#%# 8% % -l -~ = -|3mEB2Z| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
ZhLS 1.00/ 000 ~ 358 52.79] #hils | 000 ~ 358] 201 8.85 Zhus 1.00] 500 ~ 546 5279 #hbiist | 500 ~ 546| 201 8.85
6 100kN/mM#%#BZ % -l -~ = -|3mEB2Z| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZThLS 1.00] 000 ~ 422 61.84] #h Lot 000 ~ 422| 188 8.28 Zhus 1.00|] 500 ~ 6.19 61.84| #hbist | 500 ~ 6.19] 1.88 8.28
. 100kN/m%#8 2% 1.00] 000 ~ 1.75 130.32|3m%E#ZB| - ~ = = —| 100kN/M%#8 2% 1.00| 12.60 ~ 23.00 130.32|3m%i#B% % -~ = = =
Lot 1.00]1.75 ~ 843 100.00] Zhlist | 0.00 ~ 8.43] 2.82 12.41 Zzh st 1.00f 5.00 ~ 12.60 100.00f Z1List | 500 ~ 23.00f 2.82 12.41
8 100kN/mM##B % % 1.00{ 0.00 ~ 213 137.37|3m%#Ex%|0.00 ~ 036] 3.19 14.05| 100kN/m#%#BZ % 1.001 12.72 ~ 30.28 137.37|3m%#EZ 5| 25.00 ~ 30.28| 3.19 14.05
ZnLst 1.00f 213 ~ 8.81 100.00] Zhist |0.36 ~ 8.81] 3.00 13.20 Zhn st 1.00f 500 ~ 12.72 100.00f Z1List | 500 ~ 2500 3.00 13.20
9 100kN/mM##B % % 1.00{ 0.00 ~ 2.02 135.29|3m%#Ex5|0.00 ~ 0.13] 3.07 13.49]| 100kN/m#%#BZ % 1.00{ 13.39 ~ 38.28 135.29(3m%#Ex 5| 30.00 ~ 38.28| 3.07 13.49
Zrn Lot 1.00 2.02 ~ 8.70 100.00] Zh st |0.13 ~ 8.70] 3.00 13.20 st 1.00f 500 ~ 13.39 100.00f Z1List | 500 ~ 30.00f 3.00 13.20
10 100kN/mM##B % % 1.00{ 0.00 ~ 2.39 142.25|3m%# 25| 0.00 ~ 0.35| 3.18 14.01]| 100kN/m#%#BZ % 1.00{ 12.75 ~ 38.95 142.25(3m%#Ex 5| 25.00 ~ 38.95| 3.18 14.01
ZnLst 1.00{ 2.39 ~ 9.07 100.00] Zhist 035 ~ 9.07] 3.00 13.20 Zh st 1.00f 500 ~ 12.75 100.00f Z1List | 500 ~ 2500 3.00 13.20
1" 100kN/mM##B % % 1.00{ 0.00 ~ 217 138.21|3m%# 25| 0.00 ~ 0.22] 3.11 13.69]| 100kN/m#%#BZ % 1.00{ 13.07 ~ 38.20 138.21|3m%#Ex 5| 25.00 ~ 38.20 3.11 13.69
ZnLst 1.00] 2.17 ~ 8.86 100.00] Zhiist |0.22 ~ 8.86] 3.00 13.20 Zhn st 1.00f 5.00 ~ 13.07 100.00f Z1List | 500 ~ 2500 3.00 13.20
12 100kN/mM##B % % 1.00{ 0.00 ~ 217 138.21|3m%# 25| 0.00 ~ 0.22] 3.11 13.69] 100kN/m#%#BZ % 1.00{ 13.07 ~ 38.20 138.21|3m%#Ex 5| 25.00 ~ 38.20 3.11 13.69
Zhn Lot 1.00]2.17 ~ 8.86 100.00] Z1ist |0.22 ~ 8.86] 3.00 13.20 Zzh st 1.00f 5.00 ~ 13.07 100.00| Zh st | 5.00 ~ 25.00] 3.00 13.20
13 100kN/mM%#EZ % -l -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ 5 -~ = = =
Zn Lot 1.00{ 0.00 ~ 5.65 83.39| #nList | 000 ~ 565| 2.06 9.08 Zh Lot 1.00f 5.00 ~ 10.64 83.39] #nLis | 500 ~ 10.64| 2.06 9.08
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Zhst ~ Zhust ~ Zh LS ~ Zhst ~
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